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Question 1:

If cscx=—%, where 37”< X< 27, then find tan 2Xx, cos%.

(b):  cosZ= 2

Answer: (a): tan2x =22
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Question2 cos2a = Z and o terminates in quadrant Il1, then find Sina + cosa

Answer: sina + cosa :ﬂ
. _ . 31 3z
Question3: Find the exact value of: sm?+cos?
Answer: 242
2
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Question 4 Verify the following identity: SIn > (1+secx)” =cos Etan X
Solution:
2 2
., X 1—cosx 1 1-cosx (1+cosx 1—cosx (1+cosx
LHS =sin®= (1+secx )’ = 1+ ? = j = ( - )
2 2 COSX 2 COSX 2 COoS” X
1+cosx (1+cosx )(1—cosx X 1-cos®X X sin®x X
= ( )g ):cosz—-—z =c0s” =+ ———=00s"—tan’x =RHS
2 COS“ X 2 COS“X 2 COS“ X
Another Method:
RHS :coszxztanzx _ 1+cosx -(seczx —1):1+COSX (secx —1)(secx +1)
_ 1+cosx ( 1 —1j(secx +l):1+cosx .(1—cosx j(secx +1)zl—cosx 1+ cosx (secx +1)
2 COS X 2 COS X 2 COSX

. ZX 1 . 2X . ZX 2
_ A 1 1) = Z. 1 1) = = 1)" =LHS
sin (cosx + J(secx +1) =sin 5 (secx +1)(secx +1)=sin 5 (secx +1)

Question5: If csc@:—%,where 37”<<9<27r, then secgz?

Answer: secg = —%
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